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Simplify your answer.

3 2

7 Use synthetic division to find the quotient and remainder when —x + 3x + 6x — 8 is divided by

x —4 Specifically, complete the synthetic division table below, and write your answer in the following
Remainder

form: Quotient+
x—4

cood

X+ +6x -8
x—4 -

2
8. The length of a rectangle is 5 yd less than twice the width, and the area of the rectangle is 33 yd  Find
the dimensions of the rectangle.
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X+ +6x -8
x—4 -

2
8. The length of a rectangle is 5 yd less than twice the width, and the area of the rectangle is 33 yd  Find
the dimensions of the rectangle.
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9. Answer the questions below. Write your answers in simplest form.
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9. Answer the questions below. Write your answers in simplest form

2
(a) Asquare has an area of 9yd  What is the length of each side?
yd

(b) A square has a perimeter of 32ft What is the length of each side?
ft

10. The function f is defined as follows

f(x) _ 4x

3x—15
Find f(4)

Simplify your answer as much as possible.

11. Multiply.

x—1

2
X —X

_4x+8
_g x—2

Simplify your answer as much as possible.
N | E
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Find f{4)

Simplify your answer as much as possible.

11. Multiply.
x—1 _4x+8
x —x-6 X2

Simplify your answer as much as possible.

12. Divide.

X —3x+2  4x-8

X +5x+6 xt2

Simplify your answer as much as possible.





